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1)  What number is represented by the decimal model?  Red E





A.  0.06	


B.  6.0


C.  0.6


D.  6.10





7)  Solve.  Pink B





A.  3.59





B.  1.17





C.  117





D.  .117





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





7)





8)  





2)  Which number sentence should NOT have a 6 in the box?  Yellow F





F.  


G.  


H.  


J.   





3)  Which metric unit would you use to measure the capacity of a big bottle of soda?   Cherry F





A.  quart


B.  liter


C.  cup


D.  kilogram





4)  What is the area of the shape?  Yellow D





F.  5 sq. miles


G.  10 sq. miles


H.  25 sq. miles


J.  20 sq. miles





5)  Solve.  Lime D





	120 min = ____ hours





2


12


240


6
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6)  What is the missing number?  Blue C&D





Set S�
3�
5�
6�
8�
�
Set T�
9�
15�
�
24�
�

































8)  What will the temperature be if it were to decrease 9º C?  Red D





13 º


22 º


31 º


30 º





Name______________________________  Date_______________
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